Anriversary Gallocion PARTS LIST

'm G4+ Spare Parts ltem No.  Item Description
Iltfem No. ltem Description 150510F 5x10mm Flanged Bearing (2)
111003 3mm Alum. F.H. Washer (6) 502101 G4 2 Speed Shoe Cam & Posts
111007F 3mm Flat Locknut (10) 502103 G4 2 Speed Shoe Spring & Screw (2)
111007ST 3mm Steel Locknut (10) 502107 G4 2 Speed 1st Spur Gear 50T
111041 3mm Alum. Cap Washer (6) 502108 G4 2 Speed 1st Spur Gear 51T
111044 4mm Alum. Flanged Lock Nut (Thin) (4) 502109 G4 2 Speed 1st Spur Gear 52T
111050 Pipe Holder (3mm) 502111 G4 One Way Hub & Nut (w/bearing)
111118 R5 R-clip (10) 502115 G4 Diff Case (2), Diff Case Cover (1) & Gasket (2)
111120 R6 R-clip (10) 502116 G4 Diff Joint, P5 O-ring, 5x12mm Shim & 2x11mm Pin (2)
111122 10.1x13x0.3mm Washer (2) 502117 G4 4x10mm Shim, Bevel Shaft & Bevel Gear Set (1 set)
111145 Small Functional Alum. Antenna Rod Mount (w/antenna rod) 502118 G4 Diff Case Gasket (4)
111144 TM Dual Alum. Stopper (6) 502122 G4 Nylon Rear Pulley Set (w/screw)
114044 Special Receiver Battery Pack Wire Set (w/mount) 502123 #10000 Silicone Oil
114061 6v-1100mah Ni-MH Lightweight Special Size Pack (for G4S/Le Mans) 502125 #600 Silicone Qil
115002 4mm Ball Stud & Ball Cup (for 3mm rod)(6) 502129 G4 P3 O-ring (4), Washer (4) & G-clip (4)
115016 Antenna Rod (2) 502130 G4 Shock Shaft & Piston Set (2)
115021 4.8mm Ball Stud & Ball Cup (for 4mm rod) (6) 502173 G4 5th Body Post Set
115022 4mm Ball Stud & Shock Ball Cup (6) 502174 G4 Fuel Tank Supporter & Handle
115023 Throttle Ball Cup (4) 502180 G4 Front Lower Arm Stiffener Brace
115024 4mm Short Thread Ball Stud & Ball Cup (for 3mm rod) (5) 502183 G4 Front Body Post (2)
115025 4mm Short Neck Ball Stud & Ball Cup (for 3mm rod) (4) 502184 G4 Front Lower Bumper
116042 Allen Wrench Set (1.5, 2.0, 2.5 & 5mm) 502186 G4 Bumper Foam Post Set (2)
116043 Cross Wrench (4, 5,5.5 & 7mm) 502191 G4 Rear Body Post Set (2)
116132C 3x20mm CR Adjustable Rod (2) 502197 G4 Brake Cam & Lever Set
116135C 3x50mm CR Adjustable Rod (2) 502203 G4 2 Speed Housing Dust Cover
116141-8C | 4x18mm CR Adjustable Rod (2) 502211 G4 Belt Tensioner
116201 2x11mm Pin (10) 502217 G4 Throttle Linkage Set
116202 E-clip 2.5 (10) 502221 G4 Servo Arm (Futaba) (2)
116203 E-clip 5 (10) 502222 G4 Servo Spacer (4)
116207 Throttle/Brake Linkage Spring (4) 502223 G4 Servo Arm (Ko, Sanwa & JR) (2)
116209 3x4.8x0.1mm (5) & 3x4.8x0.3mm Shim (5) 502244 G4 Middel Belt Mount
116216 3x6.5x1mm Alum. Washer (6) 502262 G4 Servo Mount Set (S/Le Mans)
116217 O-ring P3 (10) 502243 G4 Radio Plate Support & Receiver Battery Mount (S/Le Mans)
117001 Alum. Stopper (4) 502267 G4 S Single Bell Crank Steering System
119001 Silicone Fuel Tube (60cm) 502268 G4 Thick Servo Arm (Futaba) (2)
1263038 3x3mm Set Screw (6) 502249 G4 Thick Servo Arm (Ko, Sanwa & JR) (2)
1263058 3x5mm Set Screw (6) 502270 G4 S Receiver Mount
126306C 3x6mm Cap Screw (6) 502272 G4 Receiver Battery Pack Mount (S/Le Mans)
126306BU 3x6mm Steel Button Head Screw (6) 502274 G4 ST Steel Hardened Drive Shaft 52.9mm (2)
126308 3x8mm Steel F.H. Screw (6) 502281 G4 Duro 2 Speed 2nd Spur Gear 45T (use with 502284 & 502285)
126308BU 3x8mm Steel Button Head Screw (6) 502282 G4 Duro 2 Speed 2nd Spur Gear 46T (use with 502284 & 502285)
126308C 3x8mm Steel Cap Screw (6) 502283 G4 Duro 2 Speed 2nd Spur Gear 47T (use with 502284 & 502285)
126310 3x10mm Steel F.H. Screw (6) 502284 G4 Duro 2 Speed Housing & Nut (w/bearing) (use with Duro gears and shoe)
126310BU 3x10mm Button Head Screw (6) 502285 G4 Duro 2 Speed Shoe (1 pair) (use with Duro housing and gears)
126312 3x12mm Steel F.H. Screw (6) 502286 G4 Front Lower Flying Wing Arm (1 pair)
126312BU | 3x12mm Button Head Screw (6) 502287 G4 Flying Wing Arm Clip and Spacer Set (2)
126312C 3x12mm Cap Screw (6) 502288 G4 New Rear Bulkhead (1 pair)
126314 3x14mm Steel FH Screw (6) 502289 G4 Brake Bracket
126314BU 3x14mm Button Head Screw (6) 502290 G4 New Back Bracket
126320C 3x20mm Cap Screw (6) 502291 G4 Rear Lower Flying Wing Arm (1 pair)
1264048 4x4mm Set Screw (6) 502292 G4 Front Upper Flying Wing Arm
1264088 4x8mm Set Screw (6) 502293 G4 9mm Lightweight Low Friction Pivot Ball (2)
150407 4x7x2.5mm Bearing (2) 502294 G4 3x6x0.5mm Iron Shims (G4+)
150407F 4x7x2.5mm Flanged Bearing (2) 502317 G4 Plus Shock (2)
150508F 5x8mm Flanged Bearing (2) 502317-1 G4 Plus Shock Ball End Set (2)
1505100 5x10x4mm Dust-Resistant Bearing (4) Orange 502317-2 G4 Plus Shock Body & Cap Set (2)




Item No. Item Description Item No. Item Description

502317-3 G4 Plus Shock Bladder (4) K14123-2 | G4 Flash-Pit Front Steering Block

K1003 Special 3mm Engine Mount Screw (5) K14123-3 G4 Flash-Pit Rear Hub Carrier

K1005 Special 3mm Servo Holding Screw (5) K14123-4 | G4 Flash-Pit Rear Upper Link Set

K1146-2 Push Type Clutch Nut K14123-5 | G4 Flash-Pit Universal Joint (2)

K1146-11 Thrust Bearing, 5x10mm K14123-6 | G4 Flash-Pit Quck Change Lever & Accessories (2)
K1146-13 Clearance Shim 5x9x0.1mm (5) & 7.1x13x0.1mm (1) K14124 G4 Speed Shot Front Bulkhead System

K1146-14 5x10mm Bearing (2) K14124-1 G4 Speed Shot Nylon Bulkhead

K1146-15 3x12mm Cap Screw (2) K14124-2 G4 Speed Shot Upper Carbon Stiffener Bracket
K1215-6 30mm Push Type Clutch Spring Adjusting Nut K14124-3 | G4 Speed Shot Aluminum Bracket

K1410-8 30mm Push Type Clutch Spring (1.8mm Yellow) K14126 G4 Lightweight Alum. Brake Lever

K1418 G4/FWO05/V1RR Alum. Clamp Type Hex Wheel Hub (4) K14127 G4 Aluminum 7075 4mm Lightweight Chassis (S/RTR/Le Mans)
K1419 G4 Fuel Tank K14128 G4 Rear Dual Adjustable Anti Roll Bar Mount (w/bar)
K1430-1 G4 New Strong Carbon Bumper Top Plate K14128-1 G4 Front Dual Adjustable Anti Roll Bar

K1448 G4 Alum. Pivot Ball Nut & Teflon Washer(2) K14129 G4 Lightweight Touring Bumper Foam

K1449 G4 Alum. Pivot Ball Nut & Teflon Washer(8) K14130 G4 Alum. Rear Anti-Roll Bar Mounts (w/anti-roll bar) (G4+)
K1463 G4 Super Hardened Hinge Pin (Front Upper) (2) K14131 G4 New Carbon Brake Bracket

K1464 G4 Super Hardened Hinge Pin (Front Lower) (2) K14132 G4 Carbon Transponder Holder (S/RTR)

K1465 G4 Super Hardened Hinge Pin (Rear Upper) (2) K14133 G4 UFO 2 Push Type Clutch

K1488 G4 ST Steel Universal Joint (2) (for VIRRR front as well) K14133-1 UFO 2 Push Type Clutch Shoe Special Mount

K1492 G4 S-class Speed Gear Set K14133-2 UFO 2 Push Type Clutch Shoe

K1493 G4 & V1 New Competition Low Friction Front Belt K14133-3 UFO 2 Push Type Clutch Set Thrust Bearing Retainer (for G4)
K1494 G4 & V1 New Competition Low Friction Side Belt K14134 G4 ST Steel 3x60.5mm Super Hardened Hinge Pin (Rear Lower) (2)
K1495 G4 & V1 New Competition Low Friction Rear Belt K14135 G4 Lightweight Foam Bumper

K14136 G4 New Alum. One Piece Engine Mount K40612 K Factory 6x12x4mm FF Bearing (6)

K1497-1 UFO Push Type Clutch Collet (Nova Rossi) K41015 K Factory 10x15x4mm FF Bearing (6)

K1497-2 UFO Push Type Clutch Flywheel K41218 K Factory 12x18x4mm FF Bearing (6)

K1497-3 UFO Push Type Clutch Post (for Centrifugal Shoe) (6)

K1497-10 | UFO Push Type Clutch Centrifugal Shoe (3) Optional Parts

K1497-12 UFO Hard Coated Alum. Push Type Clutch Housing (w/remove holes) (for G4) Item No. Item Description

K1497-13 Clearance Shim 5x9x0.15mm (5) & 5x9.0.3mm (3) 101639 Nova Rossi Air Filter (Round, Large Hole)

K1498 G4 Real Racing Brake Pads (glued with plate, for most Kyosho cars) (pair) 111051 Round Type Fuel Filter (Small)

K14100 G4 ST Steel 2 Speed Shoe Cam (w/special treatment) 116204 7x13x0.1mm (3), 7x13x0.3mm (2) & 7x13x0.5mm Shim (1)
K14102 G4 Carbon Radio Plate (G4 S/Le Mans) 116205 Double Side Tape (3)

K14109 G4 Rear 4mm Carbon Shock Tower (w/alum. stiffener) 116212 Throttle Pivot & 2.6x8mm Screw (4)

K14110 G4 Rear Dual Adjustable Anti Roll Bar Mount (w/bar) 116214 O-ring P5 (4)

K14115 G4 Left A+C Radio Plate Support & Side Plate 116215 3x6x3mm Alum. Washer (6)

K14116 G4 Right A+C Radio Plate Support & Side Plate 150610 6x10x3mm Bearing (2)

K14122 G4 ED Transmission System 502110-1 G4 2 Speed Housing Nut Only

K14122-1 G4 ED HC Alum. One Piece 30T Front One Way / Solid Axle Set 502111-1 G4 One Way Hub Nut Only

K14122-2 G4 ED HC 7075 Alum. 20T Pully & Middel Shaft 502124 #30000 Silicone Oil

K14122-3 G4 ED HC Alum. 27T Side Pulley 502135 Shock Spring 1.2mm (2)

K14122-4 G4 ED HC Alum. 19T Side Pulley 502136 Shock Spring 1.3mm (2)

K14122-5 G4 ED HC Steel 2 Speed Shaft 502137 Shock Spring 1.4mm (2)

K14122-6 G4 ED HC Alum. 21T Brake Pully 502138 Shock Spring 1.5mm (2)

K14122-7 G4 ED Lightweight Vent Brake Disc 502139 Shock Spring 1.6mm (2)

K14122-8 G4 ED Nylon 46T Rear Gear Diff Pulley 502140 Shock Spring 1.7mm (2)

K14122-9 | G4 ED HC Alum. 30T Front Pulley (for front differential) 502141 Shock Spring 1.8mm (2)

K14122-10 | G4 ED 3.1x11mm FH Washer (2) 502142 Shock Spring 1.9mm (2)

K14122-15 | G4 ED HC 7075 Alum. 15T Clutch Gear 502143 Shock Spring Set (8 pairs)

K14122-16 | G4 ED HC 7075 Alum. 16T Clutch Gear 502302 GG4 Diff Case & Pulley Set

K14122-17 | G4 ED HC 7075 Alum. 17T Clutch Gear 502304 G4 Wheel Axle (2) & Adapter (4)

K14122-20 | G4 ED HC 7075 Alum. 20T Clutch Gear & Housing 502306 G4 Sliding Servo Saver, Rail & Mount

K14122-21 | G4 ED HC 7075 Alum. 21T Clutch Gear & Housing 502308 G4 Front & Rear Shock Tower

K14122-22 | G4 ED HC 7075 Alum. 22T Clutch Gear & Housing 502309 G4 Front & Rear Body Post

K14123 G4 Flash-Pit Quick Change Tire System 502310 G4 FR Upper & Lower Bumper & Posts

K14123-1 G4 Flash-Pit System Insert (for stock G4 drive shaft) 502314 G4 Throttle Servo Linkage Set




F

)

Aomarary Cllcton PARTS LIST
Iltem No. Item Description Iltem No. Item Description
502315 G4 Differential Set 116006 ACurved Model Scissors
K1001-2 Pre-Painted 200mm Lola Body (Le Mans G4 style, base color needed) 116025 Cross Wrench (7, 8, 10, 12 & 17mm)
K1004-2 Pre-Painted 200mm GTP Body (Le Mans G4 style, base color needed) 116047 TM Smart 300cc Super Soft Fuel Bottle
K1215-5 30mm Push Type Clutch Spring (Blue) 116051 TM 1/10 Setup Board (420x360mm)
K1341-2 30mm Push Type Clutch Spring (Silver) 116055 Push Type Clutch Pinion Gear & 2 Speed Nut Removal Tool (for clutch housing with 3 holes)
K1410-6 30mm Push Type Clutch Spring (1.6mm Red) 117002-1M| TM Black HC Hex Wrench Metric Size 1.5mm
K1410-7 30mm Push Type Clutch Spring (1.7mm Orange) 117002-2M | TM Black HC Hex Wrench Metric Size 2.0mm
K1411 G4 & V1 Alum. Rear Solid Axle (w/pulley) 117002-3M | TM Black HC Hex Wrench Metric Size 2.5mm
K1423 G4 Lightweight Alum. One Way Hub (w/bearing) 117006 TM Black HC Pivot Ball Nut Hex Wrench 5mm
K1410-6 30mm Push Type Clutch Spring (1.6mm Red) 117009 TM Black HC Metric Ball Stud Nut Driver 5mm
K1410-7 30mm Push Type Clutch Spring (1.7mm Orange) 117010 TM Black HC Nut Driver 5.5mm (for 3mm nut)
K1411 G4 & V1 Alum. Rear Solid Axle (w/pulley) 117011 TM Black HC Nut Driver 7mm (for 4mm nut)
K1423 G4 Lightweight Alum. One Way Hub (w/bearing) 117012 TM Black HC Nut Driver 8mm (for glow plug & 5mm nut)
K1425 G4 Lightweight Alum. Engine Mount 117013 TM Black HC Push Type Clutch Nut Driver 10mm
K1428 G4 Alum. Throttle Linkage Mount 117023 TM Black HC Carb Tuning Slotted Screw Driver (4mm)
K1429 G4 Lightweight Alum. Front Lower Bumper 117024 TM Black HC Philips Screw Driver (4mm)
K1442 G4 Front Lower Carbon Arm Stiffener Brace 117028 TM Black HC Manifold Spring Tool
K1444 G4 9mm Titanium Pivot Ball (2) 117030 TM Black HC Body Reamer (0~18mm)
K1445 G4 9mm Titanium Pivot Ball (8) 119206 TM Transmitter Bag (Black)
K1446 G4 Lightweight Composite 9mm Pivot Ball (2) 119207 TM Starter Box Bag - Small (Black)
K1447 G4 Lightweight Composite 9mm Pivot Ball (8) 119212 TM Touring Car Bag (Black)
K1462 G4 & V1 Super Hard Universal Joint (2) 119213 TM Starter Box Bag - Large (Black)
K1467 G4 Alum. Lower Spring Cup (4) 119220 TM New Formula 8 (F8) Car Bag (for 1/8 cars)
K1470 G4 Alum. Sliding Steering Servo Saver H7101 1/10 Touring Car Cambertoe Setup Gauge (for 4mm wheel shaft)
K1472 G4 Shock Piston (#1, #3, #4) (6)
K1473 G4 Carbon Rear Shock Tower Stiffener Apparel (Optional Parts)
K1474 G4 New Alum. Middle Mount Item No. Item Description
K1477 G4 Alum. Front Solid Axle Set 119215 TM Summer Cap
K1477-1 G4 Alum. Front Solid Axle Joint Cup (2) 119223 TM Racing T Shirt (Orange)
K1480 G4 Swing Rack Steering System (w/ 8pcs bearings) 119224 TM Racing T Shirt (Black)
K1486 G4 Conversion Set For Lola VDS Body

K1497-11 UFO Push Type Clutch Centrifugal Shoe (Red, harder) (3)

K1497-14 Push Type Clutch Spring (1.8mm Black, Harder with less coils)

K14101 G4 ST Steel Gear Diff Joint Cup (2)
K14104 G4 Alum. Servo Mount (S/Le Mans)
K14106 G4 ST Steel One-Way Joint Cup (2)
K14107 G4 New Front Upper Carbon Stiffener Bracket

K14109-1 G4 Rear Shock Tower Carbon Only

K14110-1 G4 Rear Dual Adjustable Anti Roll Bar

K14114 G4 4mm Cat Eye Front Carbon Shock Tower

K14117 G4 EZO Japan Speed Bearing Set (16)

K14118 G4 Alum. Adjustable Single Bell Crank Steering Arm

K14118-1 G4 Alum. Single Bell Crank Steering Nylon Spacer Set (3)

K14119 G4 Aluminum Rear Belt Tensioner Mount (G4S)

K14120 G4 Lightweight Aluminum Middle Belt Mount

K14121 G4 Special Shock Bladder (5)

K14125 G4 Lightened ST Steel Gear Diff Joint Cup (2)

K6001 K Factory Missile 12 Class Adjustable In-Line Pipe Set (5 mm, EFRA 2623)

K6002 K Factory Missile 12 Class Adjustable In-Line Pipe Set (6 mm)

K7002 K Factory 1/10 Lightweight Antenna Rod Mount Set (w/super flexible antenna rods 2pcs)
Tool (Optional Parts)

Item No. ltem Description

111015 Alpha Starter Box

114012 DC 12v Glow Starter Charger

114014 lum. Metered Glow Starter




	G4plus Parts List-1.jpg
	G4plus Parts List-2.jpg
	G4plus Parts List-3.jpg

